Arithmetic Solution
assume, R40 >0
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f(VReference ’R403R41> =eql — VReference *

R40 Determining the maximum and
minimum are easy in this form
Rap = 5.23kQ Rgp = 34.0kQ VReference = 1:25V  These are the nominal values in the circuit

VsupplyMax = f(vReferenCe +0.01V ,R4o-e.99,R41-1.01) =9.61668V  \1avimum value of the parameter

VsupplyMin= f(vRefelrence - 0.01V ,R40-1.01,R41-e.99) =9.14156V  Minimum value of the parameter



Monte Carlo Solution

R40 = R40(1 + 1% runif(40000 ,—1, 1))
R41 = R41(1 + 1% runif(40000 ,—1, 1))

VReference = 1-25V + 0.01-runif(40000,-1,1)-V

VsupplyMax = max(f(VReference Rap> R41)) =9.609V

VsupplyMin = min(f(VReference Rao> R41)) =9.1461V



